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1.  In March 2025, NASA astronauts Butch Wilmore
and Sunita Wi jams returned to Earth on board
SpaceX’s spaceeraft named :

(@ Dragon 4>  (b) Discovery
e (d) Challenger

2. The 2024 Nobel Prize in Physiology or Medicine
was awarded to Victor Ambros and Gary Ruvkun
for discovering :

® Rl

(c) Transfer RNA (d) Messenger RNA

3. In the 2024 Paris Olympics, the men’s freestyle

57 kg wrestling event Bronze medal was won by :
(2) SarabjotSingh (o) Aman Schrawat |
(c) Akshdeep Singh (d) D.T.Cruz '

£
o=
4. Which intem'ﬁgonal sports event was held in the
United Klngﬂf&m for the first time in 2025,
featunng team; sﬁ'om India and other countries ?

(c) Hockey World Cup
(d) Badminton World Championship

5. India’s first manned deep ocean mission is
named :

a) Samudrayaan

(c) Varunayaan

(b) DIVE India
(d) Vikramaditya

%¥ill host the 2026 Commonwealth

(a) Bmmﬂyham
(c) Hamilton (d)

Melbourne
slasgow oy
G

7.  In which country was the world’s largest offshore
wind farm inaugurated in August 2024 ?
(a) Denmark (b) United Kingdom

® oo

A 2025 H, 6T % WEHIE g9 R & g
faforra & goaft w aToeht Wraue & e Wushae
TTES ?

(b) feewait
© (@) =R
¥ 2024 1 iSRS a1 AfSf 1 Hiee wEnr
ﬁm@qaﬂtﬁﬁwﬁﬁmﬁ@ﬁr%mﬁm
I ?

(a) TR TR (b) AT TR |

(c) TERANTGAT  (d) AT

2024 Y@ Awifw @ & 57 fwm ot § g
ShReTSet et ST ot shie vash fordt e fomam

(a) TSI g
(c) <rEr fiiE (d) S F
2025 % gt IR FATEeS fohew & si-ar i

T IS fomar T o, fsre s 3R = S aht
T s o 2

e
(d) Sefrer i AftgmRm i
WA % SUH HHagad 9 e AR 1 A
&7

(c) TRURE (d) fesmmieer

2026 % TSTHUSH Tl o1 IESH fhg Tee o
B ?

ST 2024 # 3T % G@ 71 19 U5 B
S5 forr o ¥ faram 1 2

a) STHIEH _ (b) TR febrem
L) Tt (@ o
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8. “Aqua Regia” is a mixture of which of the

(b) Concentratec

(c) HCl and HBr

(d) HCl and HF

Which of the following is correct ?

19
(@) 1metre=10 nanometre

90
(b) 1 metre=10 nanometre

(¢©) 1 metre=10" nanometre

(d) None of the above
10. Which of the following

(b) Sun

(¢) Electric lamp

(d) Flame of candle

is not a luminous object ?

11. The type of mirror used in the headlight of a car

Concave mirror
) Convex mirror
(c) Plane mirror
(d) Plane convex"mirror
12.  The distance at which the average radius of Earth’s
orbit subtends an angle of 1 arc second, is known
as :

(a) 1 astronomical unit

b) 1 light year
(d) 1 Fermi

13. Which of the following pairs (Fat — Oil) is not

correctly matched ?
(a) Vegetable fats — Phytosterol
b) Animal fats — Cholesterol

(c) Mustard oil — Lubricant

(d) Mineral o1l — Petroleum

e IR FerferRaa & & et fysor 2 9

(b) WX HCI 3R 915 H,S0,
(c) HCINTHBr
(d) HCI iR HF

Fefafea § @ saarae & 9
(a) 1tfer= 1019%1%‘12:

8.

10. fFefafea & & wig-ar d e 7272 9
| (2) ==mr |

(b) ¥
(c) Toremadea

(d) Wt <Y Serre

R A TS o ITANT Y ST a1t 30T 3T STh

]

11.

12. =% g0 fore o st it e R it B 1 ok
WWWWW%W%:

(a) 1 @M 9k

(b) 1.9hIST N

(d) 1%

Ay
i z

* 2

13. ﬁm%ﬁgam‘r(am e 7 @ H-a1 o ghfr
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14. Which one of the following is a landlocked

harbour ?

(a) Ennore
(¢) Mumbai ) Haldia

15. According to Census 2011, which of the following

Union Territories has 1‘:he highest. population

density ? i

(a) Lakshadweep .-

(b) Dadra and Nagar Haveli

Daman and Diu .
-

Which agro-climatic zone in Uttar Pradesh is most
vulnerable to climate change impacts, particularly

in agriculture ?
a) Bundelkhand Zone
b) Central Plain Zone

16.

(c) Eastern Plain Zone _

(d) Western Plain Zoq__ej ._ Bl

17.

(c) Plastic waste management
(d) Industrial emissions control

18. The ‘hydrological cycle’ is controlled by :

(a) Epiphytes | (b) Forests |

(c) Lichens (d) Grasslands

Which of the foliowing states of India has the
highest density of populatlon T
(a) Bihar Pun'ab

(c) Madhya Pradesh 1

The name of the scnentlst who proposed the
“Ten Percent Rule” of energy is :

19.

20,

\(a) Lindeman | (b) Odum
AC ansley (d) Haeckel

21. Plants that tolerate a wide range of temperatures

throughout the year, are called :

(c¢) Microthermal

(b) Stenothermal
(d) Hekistothermal

14, Prafafea ¥ @ -1 T WS (SEAES)

ERUIE =
(a) THR
(©) T8 (d) Bl

15.

2011 3t SFITTT 35 @R, e # & e s
ST SRST ST SHEEAT e Taiies & ?
(a) '
(b) TTEXT AT TR g
CEEKIE]

I CRT H o0 -1 SHi-STalTe] & STeTaiTy Tt o
e, R B & uf gew e doeiie
q?

a aﬁa‘@‘u@‘ﬁ'ﬁ[

(b) WA AT

(©) ‘{q”fﬁ?ﬂﬁ%ﬂ

(d) i ST &

18. “Sieha=s @ FRbawa
@ s
(c) wTEH (d) =EEd
19. uRa S FefiRed 1 & -0 T & SSuaq sHEET
- A YTV S ?
(a) fomm (b) dST
(c) HET e
20. St e “a@ gl s e m@rémf#a;r:rm
?:
(b) 3red S
(c) & (d) Tha E‘%@

21, 3 e <t o o 3 o % ok o foreaw W
A, FEAC S -

(b) TUmHA
- (d) TRerada
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22.  Consider the following events and arrange them in | 22, f=fiRew TerRl W RFEw HifvTg it 3= o

correct chronological order : ' Wﬁﬁq’ﬁ'&ﬁﬁ:ﬂﬁ%‘g .

L Cabinet Mission I Ffeefinm

II.  Cripps Mission I frea e

IMI.  Quit India Movement I ﬂT{HEﬁ'@r i

IV.  Mountbatten Pl k3 :

ountbatten Plan -
Select the correct answer from the codes given
Belgwe: ; e fow e e o & Tt S v T A
ORSISAA
(b) IV,LII, III (b) IV, 1II, III

(© ILLILIV
(d) I ILII, IV

23. Consider the following statements :

I. The -first Muslim President of Indian
National Congress was Badruddin Tyabji.

II. The first woman -President of Indian
National Congress was Sarojini Naidu.

Which of the statements above is/are correct ?
a) Only IT
(c) BothIandII
/ ElEE
(d) Neither I nor II _ E%

24, With reference to ‘Ajivika Sect’, which of the
following statements is/are correct ?

L. Ajivika sect followers mostly lived in forests.

IL. This sect enjdyed great respect during the
Maurya era.

Select the correct answer from the codes given

below :

(@) OnlyII

b) Only I
c) BothIandII
= (d) Neither I nor

(C) HI, I, II! IV s g%
@ LILILIV

23. ﬁm%ﬁgaam“rqtﬁ%wi‘ﬂﬁq
it areme |

11 G g wRefter T shidrer shy vt
wfee Teare off |

SR H W BT/ he e B/ 2
(@) FaAII

(c) IdARImaEt
(d TANLTIHI

2. i W % ot 8 PR § @
- I/ T T &/ 9 '
1. JATSHTIe HYER & ST SR 341 8 @ 9 |
1. 39 GSarT &0 52 1 & i wr e |
et fow T sz # & Wt 3 ot = Al
(a) FaeT I
(b) FEI |
@ FNLIAD
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25. In a code language, “tob iso har” means ‘Tobacco
is harmful’, “avo har hab” means ‘Avoid harmful
habit’, and “ple avo tab” means ‘Please avoid
tobacco’. Which is the code used for ‘habit’ ?

| (2) hab | (b) har
c) avo (d) tob

26. A bag contains¥5,%2 and % 1 coins in the ratio of
3 : 4 : 5. The total value of all the coins is
¥ 2,100. How many coins of T 5 are there in the

bag ?
D 10

(©) 245 O
(d) 250 =z
27. Find the missing number :

4 6 7 ;
VANGYANYAN
6 S:-9 4 6 3
(c) 67

ElEE
=
Elre

(b) 55
@ 86

In a queue of boys; A is seventh from the left and
B is fourth from ithe right. When A and B
interchange their - positions, then A becomes
fifteenth from the left. Find the position of B from

28.

the right. -
L@ 12t | (b) 17th
o 2o (d) 19h
29, Find the value of x, if :
2%3=11,
3%5=23
and x * 6 =41.
iag 4 PR () B
. d 6
30. Intel Corei9isa tyge of .

(a) Motherboard:--a
(c) Harddisk

| (b) Processor ;
d) None of the above

25. T % AT H, “tob iso har” T 37%f § ‘Tobacco is
harmful’, “avo har hab” =l 319t ® “Avoid harmful
habit’ 3 “ple avo tab” T 31 ® “Please avoid
tobacco’ | “habit 3 FTT -8 e SR fohart T
2 2
\(a) hab | (b) har

c) avo (d) tob

26. THEdANTS5, T2quT 1 H K3 : 4: 5% U
F# | oft Rt w1 T I T 2,100 8 1 IAHTSH
o FoeRp € 2
l() 225 |

b) 210
() 245
@ 250

27. T HEAT I HIOIT :
4 6 7
VANVANYAN
6 - S 4 6 3

(c) 67 (d) 86

STeTeht shl Ue Uit H, el ST & T T U A T
2l ST Y NS T W B ST R | 519 A T B IH
F 2797 I §Ee o §, A A off I F 159 W
TR S | gR SR A B o1 T 1 hifvT |

28.

oma R
(c) 204 (d) 199t
129, x T I T ST, AT
2%3=11,
3%5=23,
TWx*6=4171
EEE
iy 01 R
30. 19 Ush YR ?l
(a) HeGEs
(c) =% fE= (d) SwIE RS T
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31. A MAC (Media Access Control) address is |31, wus &% (e vt Fgien) w©H fore@ =t
bits long. 2
xomin I v »
(c) 64 (d) 128
32. Which one of the following Chola Kings |32, fr=fifaa & & frg e wer 3 Ba=m & 9w fi9ar
destroyed the Chera navy at Trivandrum and then i TR e eiit fse TigAT TSI it UHs o
captured the Pandyan King ? aqr9 o
(0 Rejasdut (@) T o
Rajadhiraja el
: TSRS
(C Feamial ] Ll
(d Kulottunga SR RS
(d) '
33. The famous Battle of Haldighati between Akbar | 33, Wﬁwm%muﬁa%ﬁmﬁ%a@
and Maharana Pratap was fought in the year : ST TT AT ¢ '
19 Jemen @ 159787

34. Who among the following assumed the titles of
“Yamin-ul-Khilafat” and “Nasir-e-amir-ul-
Momineen” ?

(a) Balban

(b) Nasiruddin Mahmud
(c) Firoz Shah Tughlaq -
( KCha

S

The grand stupa of Amaravati was built by the

] O (1C]

35.

(a) Maurya dynasty

(b) Satavahana dynasty

(c) Shunga dynasty
(d) Vakataka Dynasty

36. Which of the following is met an Operating
System ?
(a) Linux (b) Unix

(c) Windows

d) Microsoft Office

34. feafefen & & fred <ofim-sa-Reemea oft

(b) SR wEwg
(c). AT IITE FTeTh

35. TS % o & 1 Fmtor
SHTRIT 77T < |

(a) T TS

© X .
-
(d) TR TS %

36. ﬁw%ﬁaaﬁﬁﬁ:r-m ARfe Reen 782 2

OMEEES) (b) I |
(c) figw (d) wTEsRIETGE ST |
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37. Given below are two Statements, one is labelled as | 3, & & weom fow mw & fed 4 T W
Assertion (A) and other is labelled as SRR (A) S TEX Y HROT (R) et 7T )

38.

Reason (R).

Assertion (A) : In photosynthesis, the radiation

energy of sunlight is converted into chemical

energy and stored in food materials.

Reason (R) : The final product of photosynthesis

is glucose sugar, which soon turns into starch.

Select the correct answer using ,the codes given

below :

(a) Both Assertion (A) and I
and Reason (R) is the correet“explanatlon of

the Assertion (A).

(b)

but Reason (R) is not the correct explanation
of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d) Assertion (A) is false, but Reason (R) is true.

Match List-I with List-II and choose the correct

answer using the codes given below :

39.

List-I List=Il
(Natural Source) (Acﬁi);
A. Virnegar i MefHanoic acid
'B. Tamarind fi. Lacticacid
ﬁ_ﬁ—.
C. Sour milk (curd) iii. Acetic acid
D. Nettle sting iv. Tartaric acid
Codes :
(a) A—lu B-iv, C-ii, Dl
(b) 7
(¢) A-i, B-iii, C-iv, D-ii
() A-iv, B-i, C-iii, D-ii BB

What is ‘Hydroponics’ ?
(a) Grafting a plant H._

Growing a plant without soil .

(c) Study of vegetables

(d) Soil conservation

38.

39.

SHIT (4) : THTI-EEE §, T % W A
fferor St ot TEreE Sl H SeeeRt W uaTdt
T wfa R ST R |
FRO (R) : TohNI-GYAST T AH IR TR
e &, St For xiter € aife (W) & see S R |
'-ﬂ%ﬁqnq wmmuﬁwwwaﬁﬁt{
&R (R) ST &
FIT (R), a:ffﬁmq(A)aﬁrE%‘Tmm [

%1

W(R) W(A)a%aﬁwaﬁ
FTR
(c) FARTEHUT (A) T R, T VT (R) T © |
(d) AR (A) T B, T FRT (R) T E |

Fe-1 Bl E-IT & G shiforg I feag T she
oHT ST & TET S I :

gel-1 -1
(I Gt (@7)
A. o i, WOHTEH I
B. el i, e 3T
C. @Iy (3N iii. Wehfess v
D. fggdiass iv. el I
%e:

(a) A-iii, B-iv, C-ii, D-i
(b) A-ii, B-iii, C-iv, D-1
(c) A-i, B-iii, C-iv, D-ii

: ey EEE
(d) A-iv, B-i, C-iii, D-ii E%
BRI TR ?

(a) UV T ST

\ (b) forT it 3 e ST

(c) GifSsTT st STETA T
(d) T HET
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40. Consider the following statements with reference

to world population :

I.  Brazil has the highest population among the
South American countries.

II. Asia continent has the hlghest growth rate of
population.

IIl. Africa is the most densely. populated

continent of the world.
Which of the above statements is/are correct ?
() OnlyIl
() BothIandII
- (d) BothIandIII

41. Which one of the following separates Tasmania
from Australia ?
(b) Tasman Sea
(c) Magellan Strait
(d) Great Australian Bight
42. Which one of the following pairs is not correctly
matched ?
(Plantation Crop)  (Name of Country)
(a) Rubber —  Malaysia
(b) Cocoa —  Nigeria
(c) Tea — Sri Lanka

d) Coffee - Uzbekistan

43. Which of the following commodity has the
greatest share of Indian exports ?

(a) Mineral ores
(c) Handicrafts
(d) Agricultural products

2
Elre

" 44, The year 2036 will have the same calendar as that
of :
(a) 2007 () 2006
(c) 2008 ) 2009

40. ﬁﬁw%wmﬁamwﬁw

0 e e e e

II.@mqaﬂwaﬁmmﬁ@nqﬁaat
e |

1. 3shiehT forger =t wartieres aom sar meda & |
SR T - e B 2

a) heret 11

(c) I%H‘@Fﬁ

(d) 13RIt

41. ﬁm%%aﬁﬁaﬂ:rmugmﬁmﬁaq@%mﬁ
T AT S 2

42, PreeRee e 4 @ e o e g TR R 2

(ST ) CEE L))
@ wg ~  HARRm
(b) FrpreT @) — mgsfrrcm
© =

43. ﬁmﬁfﬁgaﬁﬁﬁva@w%w e a3
TR § 2 E"i
() GRS o

(c) TR —

@ Pz i
44. T9 2036 T FoST & BT, N IHE -

(a) 2007 % (b) 2006 FT
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45. In the following question, select the related word

pair from the givenalternatives :
Tuberculosis : nggs : : Typhoid : ?

== o
(¢) Lungs  += (d) Brain
46. 'Which one of the following figure is different from
the rest ? '
@ (b)
© .
v
b _
47. In the following \g‘ure, what number will be at the
place of the missing number ‘x’ ?
24| 2
613
(@) 16 () 18 -
£ B
{" .b -
b
P
48. In a code language, ‘MISTAKE’ is written as
‘9765412’ and ‘NAKED’ is written as ‘84123°.
Then, in the same language, how will
‘INTIMATE’ be written ?

@) 78579452

(b) 897866145
(c) 79438163
(d) 78698365

45. Toreforar s, Foq e feremed o & wisifera wrsa 3w
T
AU : B : : TFHES : ?

® T
(c) %%S (d) wRawh
46. fr=fafa i d FPA-d H AT AR R 2
@] /X b)
(©)

47. ﬁtr%ﬁgaf%ﬁﬁ T HET X’ % T T HH-H
e It 2

24| 2 22
6|3
(a) 16 (b) 18

48. foreft e e & “MISTAKE® &I 9765412° foran
STAT § 3R ‘NAKED’ @l ‘84123’ f@r sirar & | &t
‘INTIMATE’ %! 3t s1rar & &8 forar st 2

(a) 78579452

(b) 897866145
(c) 79438163

(d) 78698365
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49,

() A-i, B-ii, C-iii, D-iv

50.

Match List-I with List-II and choose the correct
answer using the codes given below :

List-I List-IT
A. Iqta i. A portion
B. Mahrousa ii. Land under state
administration
C. Khalisa iii. Land revenue
D. Shiq iv. Protected town
Codes :

(a) A-iii, B-i, C-iv, D-ii

(¢)  A-ii, B-i, C-iv, D-iii

E&E
&
[Elrser

Which of the following statements is/are correct in
the context of the Treaty of Lahore (1846) 7

I.  The Maharaj a left all his territories beyond

the river Satluj forever.

The Maharaja left his rights over all the

1L
forts between the Satluj and Beas rivers m
favour of the Company.

II1. The English army could no longer pass

through the Sikh State.

Select the correct answer from the codes given
below :

(b) OnlyI
(¢) I,IlandIII

(d) Only IT and III

49. -1 A1 @ ghfera g i 9 R Mo oe
T T o Tt S A

G-I aell-Ir
A TR i THE
B. wedar i, T SR 35 e o
C. e i, TR
D. T iv. W
ﬁ‘_:

(a) A-iii, B-i, C-iv, D-ii

(¢) A-ii, B-i, C-iv, D-iii

o

(d) A-i, B-ii, C-iii, D-iv

50. wMER Hi whr (1846) %srm\fﬁﬁnféf%aﬁ ¥

BH-TA R TR 2

L W%uﬁaqﬁ%‘w%mmm
wed % o s fag |

Wﬁmﬂﬁﬁ%ﬁa%mﬁﬁm
Wﬁmaﬁwm%wﬁiﬁg
feam)

SIS T o1t Ry T F & T T
ot

e e T e 3 & et e R i
(b) FaAI

IL.

IIL

() L IR
(d) e 11 3R I
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51.
of the given events 7

(a) August Offer, Cripps Muission,
Conference, Cabinet Mission Plan

Shimla

(¢) Shimla Ccmfe;ge, Cripps Mission, August
Offer, Cabinet Mission Plan

(d) August Offer, Cabinet Mission Plan, Shimla
Conference, Cripps Mission

52. According to which Article of the Indian
Constitution, — “No citizen shall, on grounds only
of religion, race, caste, sex, descent, place of birth,
residence or any of them, be ineligible for, or
discriminated against in respect of, any
employment or ofﬁcwder the State” ?

a) Article 15 < (b) Article 16(4)
c) Artcle 16(2) N, (d) Article 17
o
53. In which part of the ﬁlian Constitution, have the

srovisions for elections been made ?
L(a) PartXV | (b) Part XIV

(c) Part XVI (d) Part XVII

54. 'Who was the first speaker of the Lok Sabha ?

(a) RaviRai (b) Balram Jakhar

EEE
i

55. Which of the following pairs is mot correctly
matched ? '
(Fundamental Rights)  (Articles)

£ 1

Right to Freed om Articles 23 — 24
of Religion %
(b) RighttoEquality : Articles 14— 18
(c) Cultural and P . Articles 29 - 30
Educational
Rights
(d) RighttoFreedom : Articles 1922

Which of the following is the correct chronology | 51,

e & @ o & 7 g @ wE

(b) Tmen e, Hfeme fmm dwmn, o
&, Tere e

(c) Bmen udiem, fra fiwm, s v,
Ffere frem s

(d) TR E, hfode fm Awmn, Rwer

- e, forew fmm

el wfere & fore SR & g, — “fenelt oft

AT Sl helet e, HeraisT, S, fef, s, S,

Forarmer o g O fonelt oft 3Trerm W e & erefi fonelt

oft s a7 v & deier 3 i 7 SeuET s A

Ik 1T YT & feharT St 2

(a) 55 15 (b) ITRT 16(4)

\©) FTBTL6Q)f (@) F=T17 Bz
53, wn?ﬁuﬁﬁuw%%qﬂmﬁﬁahwﬁahﬁmﬁq

2
(a) XV I5)H § (b) X1V (14"

(c) WRTXVI(16)H (d) WRTXVII(17)#
54. Ih T o T IS (THeRT) i o 2

(a) T (b) AT TGS
(c) HRIFAR (d) it Areeist

52.

55, fmfaRa & @S- 3w @&t gafoa 78§ 2

(b) w1 HAfHR :aﬂﬁ)‘dl—la

(©) vwpfafmm . FF=WT29-30
waret FfeRRR

(d) o ARR  : FAT=DE 19 - 22
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S6. Introducing Shyam, a lady said, “The father of his 56. 3T AT iR S0 §T, U Hie X e, “Foh AL
father-in-law is my father-in-law.” How is Shyam frar i R B 1 I Sg aRen o Hegr o
related to the lady ? _ : (@) wRE? (b) T
(a) Husband (b) Son ==
@ Father — @ fm

57. Ashish leaves his house at 20 minutes to seven in
the morning and reaches Kunal’s house in
25 minutes. They finish their breakfast in another
15 minutes and leave for their office, which takes
another 35 minutes to reach. At what time do they

leave Kunal’s house to reach 'their office ?
(a) 7:20 AM (b) 7:40 AM
c) 745 AM (d) 8:15AM

60. A family consists of six members P,Q,R.S, T and

U. There are two married couples. Q is a doctor
and the father of T. U is the grandfather of R and
is a contractor. S is the grandmother of T and is a.
housewife. There is one doctor, one contractor,
one nurse, one housewife and two students in the
family. Which of the following is definitely a
group of male members ?
@ QU,T

© QUu,rpr

ur

i |

57. Y G W a F e B W e W
Frerera @ -sfi 25 e & spomer o wger 21 3
3T 15 e 3 1T vt wer e § ofit oy
Siifeer % fore et ST €, et e 7 35 e ot
W%I%mﬁa‘ﬁaﬁaﬁ%mw%m%
o gmr ke €9

(b) I 7:40
() W 8:15
38.  The final of the World Chess Championship 2024, | 53. Ry T MR 2024 1 et B gen
was played between : . QETW@} ?
(a) Viswanathan Anand and D. Gukesh () “'_-'*__f_': 3T T &, e
(b) Ding Liren and Vladimir Kramnik () et v e
¢) Magnus Carlsen and Vladimir Kramnik 5 P : § et &
(d) Ding Liren and D. Gukesh s © —
- 59. Find the missing number : 59. v HEAT I hifvTg |
’ 17 - B 1% .14 19Y4 17 18 13 14 19 4
1225 729 ? I Y
ElEE
Q) 52 ] @ 641 @ 641 B

60. THURERH ©: WGP, Q, R, S, T a9 U ¥ | vhar

ﬁ‘a‘rﬁm%w}%%m@@'mr%aﬁwwﬁm%r
U, R T 36T § 3R 98 Th 33eR & | S, T ot &
R 98 T TRt 7 | IRET ¥ Tk e, T S,
Th T, T IRl 7o @ o § | RefiReg § @
-8 e & & oy veei wr e 0

@ QU,T
© QU,P

d UT




i

*14*

JUNHSIV-01

61. Which one of the following has received the Major
Dhyan Chand Khel Ratna Award 2024 ?
(a) Annu Rani '
7D Gukesh )
c) Vantika Agrawal
(d) Sukhjeet Singh

.

In 2025, how many mdmduals were honoured

with the ‘Padma Vibhushan’ aw -t}
@ 5 (b) 4 -"-"_~_-E.td) 6

Padma Bhushan 2025 awardee for Science and
Engineering, Vinod Dham is known for his role in
the development of :

(a) RISC Computing

62.

(b) SPARC Systems
(c) ZiLOG Processors {

64. What initiative did the Indian Government launch

to encourage climate-friendly l1festyle choices
among cmzens'? =5

(b) National Mission for Clean Ganga

(c) Swachh Bharat Abhiyan

(d) Green India Mission ;
India’s Chandrayaan-3 made a soft landing on the

65.
moon, making India the country to do
SO.
(a) Third (b) Second
(d) None of the above
66. The Lok Sabha Elections 2024 were held in how
many phases ?
6o

(c) 8phases (d) 9phases

67. Which one of the following 1 an Export
Processing Zone ?
(c) Kanpur (d) Bengaluru

68. When was the ‘Zero Poverty Campaign’ started by
the Uttar Pradesh Government ?

() 15 August, 2024
c) 26 January, 20 (d) 26 January, 2025

61.

reriRaa & 2 Rreen! o ST <8 T T TR
2024 fir 2

ﬁzozsﬁ,%ﬁwﬁaﬁﬁ

ey RO JUERR &
graTta feRaT TR ?
@ 5 (©) 4

¥ 2025 o foe @ 3 & § T o

goifa fore mﬁﬁﬁaﬁﬁﬁﬂﬁmﬁ'ﬁﬁ a{ﬁraﬁr%ﬁ
T ST ST @ 2
(a) RISC WUFT

62.

63.

T TR S ATATRERT AT e
mﬁ%ﬁ%qﬁmmﬁwﬁ%‘?

64.

| (a) TRAARE

(b) TSI & T o
(c) e W AR
(d) i 7 e

65. w%aaaﬂ-ﬁaamm;ﬁqzﬁ%rm&,ﬁﬂ%

ST VT <R S AT |
(a) (b) fecf
(d) S # AR T
66. aﬁawwzommﬁwﬁﬁ@mm
Ty ?
o o
(c) 8= (@ 9=

67. ﬁmﬁrﬁaﬁﬁﬁaﬁqmﬁuﬁrw@%ﬁméi
??
(a) Taeft (b) I oS
(c) HHIR (d) ©

68. IO YT TR T iy gradt FREF’ e T

TR TR ?
q) 29 2024

: (b) 15 7R, 2024
(c) 26 e, 2024

(d) 26 SFe, 2025
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69.

Match List-I with List_—II and choose the correct
answer using the codes given below :

List-I
- (Name of List-IT

Biosphere (Location (State))
Reserve)

A. Manas i. Meghalaya

B. Similipal ii. Kerala

C. Agasthyamalai iii. Odisha

D. Nokrek " iv. Assam

Codes :

(8) A-i, B-ii, C-iii, D-iv

(b) A-iv, B-ii, C-iii, D-i

(¢) A-iv, B-iii, C-ii, D-i

70.

71.

(d) A-ii, Biii, C-iv, D-i =

Which of the following pairs (State — Name of the
Coal field) is not correctly matched ?

(State) (Name of the Coal field)

(a) Madhya Pradesh — Singareni .

(b) Maharashtra — Wardha Valley

: (c) Chhattisgarh — Korba
(@ Odisha ~ Talcher
Which of the following pairs is mot correctly
matched ?
(a) Chennai — Artificial Harbour
(b) Visakhapatnam — — Natﬁral Harbour

— Deepest Harbour of
India

(c) Kolkata

(d) Tuticorin

— Fishing Harbour

JUNHSIV-01
69. %ﬁrlﬁwu@ruﬂ%ﬂaﬁﬁr@aﬁt:ﬁ%ﬁqﬂfe
aﬁrga‘trraatua‘twgﬁq
3 3 ll-1
o i . (eERyfa @)
A. WFE 1 R-CIGE)
B. fuftefiuer ST
C. INTEIHATS iii. enfesm
D. AhEh Civ. oW

70.

71.

(b) wERTE

e

(@) A-i, B-ii, C-iii, D-iv.*

L

(b) A-iv, B-ii, C-iii, D

(d) A-ii, B-iii, C-iv, D-i

freferfaa Tt @ — Hen & F aw) § @
AT T g 781 © ?

(aﬁaar&?ﬁ’aﬂm)

(T53)

(c) EETE aﬁﬂw
(d) e —HW

P et i - o T AR TR 2
(a) == - @ﬁmﬂmﬁ
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72. What was the FlscalfHealth Index of Uttar Pradesh

in the year 2022 — 23*2
(a) 370 {f

(©) 350 *

=4

479

In 2023 — 24, which state was the leading producer
of food grains in India ?
(a) Madhya Pradesh

b) Punjab
(d) Maharashtra

T } ;'
In which year was the Uttar Pradesh State Organic
Certification Agency. Eﬁabhshed ?

@ 2011 - G 2013
(©) 2005 sy W

When was the ‘Kisan Mitra Yojana’ started in
Uttar Pradesh ? '
1oust, 200

(c) 18 June, 2001

Which cash crop is the major contributor to the
agriculture economy Qf Uttar Pradesh ?
a) Cotton } (b) Wheat

c) sugarcane e & 2 (d) Maize

73.

74.

75.

(b) 18 August, 2010
(d) 18 June, 2010

76‘

77. “Operatlon Kayakalpﬂ ischeme launched in Uttar
sh 18 1€ to': :

Improving }:ugher educatlon
Promoting skill-based education
Expanding university infrastructure

78. Consider the following figures :

2 6 : 3 ?

80 | 24 120 | 36

What is the missing number ?
a) 8 b 7

© 0 @ 10

UNHSIV-01
72, & 2022 — 23 T I TR T TSI TR
e (Fheha ged $e) fona o 2
(a) 370 b) 479
(© 350 \(@) 459
73. WA o 2023 — 24 F FA-A1 T TN I Imoft
Jc4TGeh AT ?
(a) T T
b) SISl
— e
(d) HERTS: -

74. ﬁma&ﬁmu&mw%ﬁmmuﬂw@;ﬁﬁ
T 1 7T 2
(@) 2011 b) 2013
(©) 2005 \.(9) 2007 |
75, seCSReT a5 T ohl TR ?
(a) 183d,2001  (b) 18 3%, 2010

() 189,200L ] (9 18,2010

76. IR SR St Fry rvferereen § fow ToRdt HEA Al
HEEU AT & ?
() T

a) 9™

71. wmﬁ@ﬁﬁ“mﬁmw ST

(c) ﬁaﬂmﬂﬂﬂﬂmaﬁmﬁ
(d Rergafrererar 3 SRETE @il oA fewar T
78, €T Tt o R RN ;

2 6 3 d
80 | 24 120 | 36

| @R ?
2) 8 ®) 7
O (@ 10
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79.  Which one of the following Union Territories of | 79, 2011 %t ST # Wi % Rr=iRifea 3w siia
India had the highest literacy rate in 2011 g%qﬁ-ﬁ‘a‘m—oﬁf HTECAT ¢ I==ay off ?

Census ?
a) Chandigarh
| (b) Lakshadweep
Daman and Diu
(d) Andaman and Nicobar Islands

80. ‘Yela Mala’ is the name of which of the
following ?
(a) Garo Hills *
\(b) Cardamom Hills |
(c) Anaimalai Hills ——
(d) - Shevaroy Hills E%ecf
81. Which one of the following pairs (Tree — Area) is
not correctly matched ? -
(a) Teak — Western part of the Indian Peninsula
Sundari — Sundarban Delta
(c) Deodar — Nilgiri Hills
al — North-eastern parts of the Indian
Peninsula
82.  Which of the following is a local storm of Bengal

and Assam, useful for tea and rice cultivation ?
(a) Blossom shower
Mango shower

L, (c) Norwesters |
(d) Karaburan

83. Which one of the following pairs is not correcﬂy

matched ?
(Mountain
Pasil (State)
(@ NathuLa - Sikkim
(b) ShipkiLa — Himachal Pradesh

(¢) ZojiLla
(d) SinLa -

Arunachal Pradesh
Uttarakhand

(a) mfrm%a’f

(d) SR verfeat

Frrfiea it (g — o) § & B T @@
g e ?

(a) wﬁq weﬂ:rrmaﬁtrsmtrf‘s:ﬁum

81.

(d) I — %ﬂl‘cﬁﬁﬂﬁfﬂq Eaciku]

82. ﬁnﬁiﬁgﬁﬁ@rﬂq—mwﬂawmamﬁ

T TTe shl el % e ameees R 7
(a) ST Tt
- (b) ﬂlﬁm‘iat
ElEE
@ g 5

8. ﬁn%%ayﬁﬁ%ﬁqm@@gﬁ%ﬁﬂﬂ%?

(qafa?zrazﬁ f._"__'f"
@ wg@r  — ﬁﬁm
(b) fRRrer — 9%3&
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84, Which of the following is mot a beneficial
insect ?

(a) Bombyx mori i
(b) Apis mellifera -
Laccifer lacca *7}

d) Helicoverpa arn {m %‘%

85. Consider the followmg statements with reference
to the 16th Finance Commission :

i1

The Commission was constituted. on 3lst
December, 2024.

II. Shri Arvind Panagariya is its Chairman.

Which of the above statements is/are correct ?

a) OnlyII > (b) Only I
(c) BothIandIl = (d) Neither I nor II
*"_?f"'f
86. Which one of the follggﬁng is a correct match ?
(a) Grow More Food '~ Jawaharlal Nehru
_ Campaign
(b) Etawah Pilot — Albert Myre
Project
(¢) Co-operative — Mahatma Gandhi

Movement

(d) Sevagram Project — Vinoba Bhave

The Destructive Insecgénd Pests Act (DIPA) was
passed in the year
(a) 1929

() 1946

87.

_..-;—-.—

2

Vi L

Which of the following chemicals is used to hasten
ripening of fruits ?
(a) Malic hydrazide

(c) Cycocel
(d) Indole-3-Butyric acid

84. ﬁm%@aﬁ@rﬁ:rmﬁwmaﬁzﬂﬁ%?
(a) iftee A
(b) g AferdT
(c) IR AT

165 for 3T 3 wed #f FreferRaa ot w fomm
T :

. SRR 31 fw, 2024 HIgRATAT|

1L it erfere T e STeaE © |

T Y R/ HYT E 85 ?

(b) a1

(d TFNLALD

85.

() 13

86, FrfRed i & Hi-81 0w gARea © ?

(a) AR FAT IR~ ST 1E®
TR

(b) FEETIRRE —  Iee W
RRISE] :

(c) UEHIETTRIe  — e et

(d) YemmutEsT - RRerwE

87. frmer i o dew afifem (@ die) ad

ﬁtrrﬂ?rgan

(c) 1946 (d) 1957
88. FrAfiRed & & HH-81 TE Bl i IS THH
fore s ST @ 2
(a) BT TSRS
(©

@) Ferd-3-sgRie U
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89. Who presided over the first session of All India
Trade Union Congress at Bombay ?

(b) S.A. Dange
(c) B. Shiva Rao
(d) N.M. Joshi

~ 90. Which among the following was not one of those

states which were annexed to the British Empire
by Lord Dalhousie on the pretext of the ‘Doctrine

of Lapse’ ?

(a) Nagpur

(b) Satara

Lc Jhansi  mm
d) Karnataka %

91. Who was the Governor General and Viceroy of
India at the time of the formation of the Indian
National Congress ?

(b) Lord Ripon
(c) Lord Lansdowne
(d) Lord Curzon

92, Who established the Central Hindu College in
Banaras, which later emerged as the focal point of
Banaras Hindu University ?

(a) Bal Gangadhar Tilak
(b) Madan Mohan Malviya
[©) Annic Besant |

(d) Swami Dayanand

93, Where was the first session of the Indian National
Congress held ?
D alcutta

(c) Poona
(d) Lahore

89. = # wifew Wil 3T gfem wiw & ved
TSI ShT STerEra forer 3 off 2
a) ATl STSTad 3T
(b) TET S
(c) . RaEwa
(d) TAum. st

00. FreifrRa & & - e SRS i wuf T
oT, S AT STRISH G ST Afer % s fafew
sy e g T o ¢
() AP
(b) HaRT
(c) et

)
1. mau@am%naagg?wwm

ney

(b) N g
(©) RISESLSED]
(d) <TE i

92. TIRE H Ugd fog diw, SN o€ H SHRE
fog forarferemerar & vs-forg % w0 & wree oma,
T fome oY oft 2
(a) e TR forereh

(b) HE e W
@ <
- o
93. W@uﬁmm%&é&maﬁmg&r
o ?
omm SN
.
(c) T
(d) @R
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94. Which of the following part of brain is known as | 94, FreifiRaa & & AR 1 FBI-AT 9T T AR’
‘little brain’ ? FEAETE ? L
(b) Cercbrum %) Fom
(c) Pons (d) Medula ’ © ot e"{"éd) e
(48 e
95. Blood is a type of 95. TR Uoh SRR AT €I 31
(a) Muscular tissue (a) T Zae P
(b) Epithelial tissue (b) ST I
(c) Nervous tissue S © SR
&= =)
96. Given below are two Statements, one is labelled as | 96. = FYT T ITIQ g2 o @ = =
gssertio(nR) (A) and other is labelled as SRR (A) Gﬁt@ﬁw (R)ﬁTTI'!Tf% |
eason (R). ¥ 3
Assertion (4) : Amphibians can tolerate mixing of SR (4) : ST SHTFAIF T 1 Fefipl T
oxygenated and deoxygenated blood. FheA R TR | ™
Reason (R) : Amphibians are animals with two FRT (R) : SHIER A m@mmﬁmvﬁ%l
chambered heart. - AR
Select the correct answer using the codes given ?ﬁ%ﬁqm@ﬂ o ?Rﬂﬂ.ﬁ'q? ;
below: : (a) AR (A) aﬁt{w(k)aq‘rmﬁ,ﬁ
(a) Both Assertion (A) and Reason (R) are true, HWT (R), aqﬁa;q:;‘( A) # ot = T8
but Reason (R) is not the correct explanation 8
of the Assertion (A). _ i
(b) Both.Assertion (A) and Reason (R) are true (b) AR (A) R FOT (R) I & § 3R
and Reason (R) is the correct explanation: of AT (R), ARHAT (A) I & & FHar
__the Assertion (A). ) 3
c) Assertion (A) is true, but Reason (R) is false. ;
d) Assertion (A) 1s false, but Reason (R) 1s true. (c) AR (A) T &, TEq ST (R) T &
(d) 3R (A) 7T B, T HRIT (R) T & |
97. ‘Knock-Knee’ Syndrome results due to the |97, << figm amagur & HAUT AT R |
ST (@ ] & ¢ w
(a (b) Heavy metals o Mo 0 (d) B
(c) Nitrates (d) Phosphates 92
Lo
98. Which of the following are water-soluble | 98, fmifeifaa & & H-Ywer & germeficr e & 2
vitamins ? (a) Refm B 3D
(a) Vitamins B and D ®) P i e

(b) Vitamins A and B

¢) Vitamins B and C

(d) Vitamins C and D

(c) frefm B R C E‘g

(d) fFerfem c 3D -
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99. Match List-I with List-Il and choose the correct | 99, F=fi-I ﬁaﬁ-ﬂﬁgﬁ%ﬁaﬁﬁmaﬂt = feg g e

answer using the codes given below : T IR S TRl wgﬁq :
List-I Lis.r-H g - E«
(Crops) . (Diseases) (FE) @ m

A. Paddy i.  Wilt disease A U s (ﬁ'ﬂ

B. Wheat ii. Black Rust - B. ﬁ_':‘:\ i e ﬁtb‘ﬁ

C. Sugarcane iii. RedRot C. T i, e

D. PigeonPea iv. Brown leaf sppt D. 3 v ST s T

Codes : e

(a) A-i, B-iii, C-ii, D-iv
(b) A-ii, B-iii, C-iv, D-i
) A-iii, B-i, C-ii, D-iv
A-iv, B-ii, C-iii, D-i

(a) A-i, B-iii, C-ii, D-iv
(b) A-ii, B-iii, C-iv, D-i
E‘E Ve e 2L T

Bl (c) A-iii, B-i, C-ii, D-iv

100. Which fruit ranks first in India in terms of

production ?

o

(c) Guava (d) Papaya P

101. Which of the following belongs to cash crops ? | 101, fr=ifrRa & & = et o o He e g ?

I. Potato | I

II. Rice - JICIC]

III. Sugarcane L 7=

IV. Cotton V. U™

V.. Rapeseed | V. u%e Tl (uEe)
Select the correct ansv(rer from the codes given EIEREHEI ﬁgﬁﬁ T I T = hIfSIC :
bglaw: (a) 1,131

(a) 1,1 andII (b) I IISARIV o))

102. ‘Kisan Call Centre’ was started by
(a) ICAR

(b) Ministry of Agriculture
Welfare, Government of India

(c) State Agricultural University
(d) NABARD

armers
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-103. Deficiency of which of the following elements
causes yellowing and poor growth of the plants ?

(a) Phosphorus
: S
(¢) Calcium
(d) Boron %
104. Which one of g following pairs (Folk dance —
Place of Origiri)is not correctly matched ?
(a) Kaikottikal — Kerala
(b) Himachali — Kullu Valley
(¢) Koli— Maharashtra

(d) Yakshagana — Rajasthan

105. Match List-I with List-II and choose the correct
answer using the codes given below :

List-I ‘3‘ List-IT
(Buddhist te.g@ (Content)
¥y . ) i
. A. Vinaya Pltﬂl{&.} . Regional histories of
o Buddhism
i Py :
B. Sutta Pitaka  ii.  Buddha’s teachings

C. Abhidhamma iii. Rules for those joining
Pitaka the Buddhist monastic
order
D. Mahavamsa  iv. Philosophical matters
Pitaka
Codes :

(@ A-iv, B-iii, C-i, D-ii
(b) A-iii, B-iv, C-i, D-ii
A-iii, B-iv, C-ii, D-i
(d) A-ii, B-1LC

106. Which of the f%wmg is not a Rabi pulse crop ?
(a) Chlckpea.j{?
(b) Lentl '™

(d) French bean

UNHSIV-01

103. Frefafaa # & forar aear <Y et 3 o e i &

ST & o S gfe e B S R 2

(a) PEHRE

=

(c) i

(d) A
104. ﬁn%%ﬂﬁ%ﬂqmgn@mqw IR

) WEl R 781 @ ?

(a) HTEHITEH — A

(b) fTewmereht — oo et

(c) It TS

d) I — T : ?

105, FE-1 A gEi-1 & gafer Hifvm i A= fg m g
T TN T TR I AT :

gt -1
(15 779 (7 -g)
A. o fies g o & el
sfrem
B. ¥ fes i, &t Rrag
c. hemfies i AgTEAMBEET
: EINIEANIERL]
D. weEvifies  iv. IEite Ame
w2

(-9

(a) A-iv, B-iii, C-i, D-ii
(b) A-iii, B-iv, C-i, D-ii
(¢) A-iii, B-iv, C-ii, D-i

106. Frfefea & & Fi-eft o W A Foret woe T8
§7

(a) . =T

(b) g
(d) 89 =t Beft (Sber sft)
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107. Which State Government has started the scheme | 107. e fier ST R ST O R IRy i TS
‘Nivesh Mitra’ ? 29
(a) Tamil Nadu () Rt
(b) Madhya Pradesh > i
(b) e awT
(d) Mabharashtra
_ @ W |
108. What is the name of the third volume of | 108. SR WSl S o T8 37ehartraT <hi ey foree o1
Akbarnama written by Abul Fazl ? FTAEE ? :
(a) Sulh-i-Kul @) ]
(c) Manzil-Abadi -
(@) Sipah-Abadi (c) He-FTaTeT
_ : (@) Foroe-smmer
109. How much were India’s foreign exchange reserves | 109, femsr 2024 % 3fa & T o ferareft HaT sfew forar
at the end of December 2024 ? o7 2 Py
(a) USD 629 Billion @ 629 ﬁ%ﬂq ST g
D Q Rilla -

Billion

c) USD 640-3 Billior

USD 653-97 Billion

110. Which among the following is the largest Stupa in
the world ?

(a) Dhamek Stupa
Sanchi Stupa

111. Before his death in 1539 A.D., whom did Baba
Guru Nanak choose as his successor ?
(a) Guru Namdev
(b) Guru Tegh Bahadur

'(c) Guru Arjan

112. Which state has the largest economy in India ?
(a) Gujarat '
(b) Tamil Nadu

c) Uttar Pradesh
d) Maharashtra

) 578 Fftra s <R

110. frefeftad & & forea o1 vad 9e7 /U HH-ATR ?

(a) o &Y
(b) wiefi T

o

(d) WAL

111, 1539 £ ¥ Seft Heg % e, Tl 76 A T I
(a) TEAMIE
(b) AT SRIGT
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113. Who among the following was the first Indian to
be awarded the ‘Bharat Ratna’ ?

X@_C. Rajagopalachar |

b Mulkherjee

(c) Abdul Ghaffar Khan

(d) Nelson Mandela

114. Among the following, which dne is the statutory
body ? et

[(5)_Finance Commission -
(c "Planning Commission

(d) Labour Commission

-
115. Distribution of Taxes between Centre and States
in India is done by the :

) Planning Lomiug

ssion
(c) National Development Council
(d) Parliament Sl

116. Which of the following critics used the term
“Quasi-Federal” for the I.”ndlan system of
government ? -

(a) Jawaharlal Nehru

b) Laski
d) B.R. Ambedkar

117. Estimation of National Income in India is done by
the : '

118. Which among the following is not a part of the
Governing Council of NITI Aayog ?
(a) Chief Ministers of Delhi and Puducherry
(b) All Chief Ministers of States
(c) Lieutenant Governor of Andaman and
Nicobar Islands

d sovernors of States

113, DreRiRed § & < T & GEni S el e

(d) ﬁvgwq%w
114, FrefrRae i & - w enfoes g e ?
(a) e mT :

(© Eég;{i gég;gi

(d) o ST

115, ST & g, S TSAT 35 FeA Bl o foraieeT heell ® :
(a) ST SR

(c) TS forehmel aiee
(d) @
116. Frefafaa & & forer Teiiess 2 TR e ST
3 foru “orel-HeTeReR” Y158 i SRINT foRaT ?
(a) TS 1E& :
(b) TEhT

118. Trfifaa § & A ST 3% R aiee
Remagiaars ?
(a) Reeh it yged & qea i
(b) TS Eeft gE At -
(c) e AT PR FoaE & aftere
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119. In which session of the Congress was the “Purna
Swaraj” resolution passed ?

=
(b) Calcutta session
(c) Lucknow session
(d) Madras session

120. On defeating which politician, did Subhas
Chandra Bose become the President of the Indian
.National Congress ?

(a) Sardar Patel

Jawaharlal Nehru

‘c) Pattabhi Sitaramayya

o

Match List-I with List-Il and choose the correct
answer using the codes given below :

121.

List-I List-IT
A. Jat Rebellion i. 1554 AD.
’ B. Bundela Rebellion ii. 1672 A.D.
C. Satnami Rebellion  iii.. 1669 A.D.
D. Sikh Rebellion iv. 1675 A.D.
Codes :

A-ii, B-iv, C-i, D-iii
A-iii, B-1, C-ii, D-1v [
A-iv, B-iii, C-11, D-1
A-i, B-ii, C-iv, D-iii

122. When did the Anti-Partition Movement begin with
a massive demonstration at the Town Hall,

_Calcutta ?
: [ (a) 7th August, 1905 |
' (b) 5th August, 19
(c) 16th August, 1905
(d) 16th October, 1905

123. Which of the following countries did not
recognize the Azad Hind Government ?

© Gomany

(c) Italy (d) Philippines

119, #Tﬂtr%ﬁaa‘_paﬁ%mﬁ‘@m’mmmﬂa

(®) t

(©) maﬁam
(d) W= AR

120. memmﬁwﬁamwﬂ?ﬁu
TSR i o reme s 3 2

(2) TR

(b) ST, T&®

(d) . TeFMYTETET
: £

121, @Iﬁ@*lgﬁgﬁ%ﬁaﬁﬁq 3 el fow e e
6T SRINT 9 TET I G :

(c) A-iv, B-iii, C-ii, D-i
(d) A-i, B-ii, C-iv, D-iii
122, AT & 1S Bl | U foumer el & @y

et 3 fordter # Stidver o ST 5o 2
(a) 7 3T, 1905 3 |

(b) 5 AT, 1905 3

(c) 16 30T, 1905 =t

(d) 16 I, 1905 =t

123. ﬁw%rﬁaaﬁ@:%aém?rmﬁ%ﬁwaﬁ
m:m:rs?’?&eﬁ?
(c) weait

(b) St
(d) Trferdta
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124. Which of the followmg pairs is mot correctly
matched ? !

Mahalwari Systemi— N

(©)

(d) Ryotwari System -Madras
125. Match List-I with List-II and choose the correct
answer using the codes given below :
List-I List-II
A. Kushanas i. Devaputra
B. PulakeshinII ii. Sakalottarapathanatha
C. Harshavardhana iii, Dakshinapatheshwara
D. Samudragupta 1 Kaviraj
Codes : :

(a) A-ii, B-i, C-iii, D-IV
(b) A-ii, B-iii, C-i, ]j-lv
(c) A-iii, B-iv, C-11 D-i

126. For whic;h of the following rulers, is it said in the
‘Udaipur  Prashasti’ that “He achieved,
accomplished and made possible everything that
could not have been dong by anyone else” ?

(a) Vakpati Munja
(¢) Mihira Bhoja
(d) Sindhuraj &

127. Which of the following kings stated that “All our
people should create the good deeds, free from all
disasters, enjoy the joy with minds unpolluted
with jealousy” ?

(a) Chandragupta Maurya .
(b) Ashoka

(d) Samudragupta

124. ﬁwﬁmﬁaﬁqm@nm@mwﬁ%v

| 125. Tef1 39 -1 & R oA offe i e e

6T ST T ST :

gel-1 elI-1
A. U i o
B. YO S i, WeReHROETS
C. e iii. RIS
D. WHRA iv. oSt
%

(a) A-ii, B-i, C-iii, D-iv
(b) A-ii, B-iii, C-i, D-iv
(c) A-iii, B-iv, C-ii, D-i
» .

C A »

126, TreRiRea # & fra e o g Seaq aika” #
HET T @ o6 SE I8 Tel S T AR Te T W
R Sft ST S or el SR W A |

(@) aﬁqﬁrgsr

©

(d) forgos
127. Frefafea & & fea e 0 %A § & g wrd

T R BT G S S, T ST ¥ I,

ot & ey T W A T AT R 2

(a) ST HR
(b) IH




-

i2?*

UNHSIV-01

128. Which one of the following states recorded the
maximum decadal growth of urban population
during the period 2001 — 2011 ?

(a) Nagaland
) (¢) Kerala ‘Maharashtra

129. Which of the following is an ocean current of the
Atlantic Ocean ? _ _
(a) California current {{(b) Benguela current
(c) Alaskacurrent = (d) Humboldt curren

130. Arrange the following states in ascending order on
the basis of percentage of Tribal population as per
Census 2011 :
I.  Madhya Pradesh
II. Maharashtra
III. Rajasthan
IV. Meghalaya
Select the correct answer from the codes given
below :
a) IILIV,ILI (b) LILIIL IV

W ILILLIVY (4 IV,LILII

131. Which of the following river originates from
Mansarovar in Tibet and- passes through
Shipki La mountain pass ?

(a) Beas
(d) Chenab

(c) Ravi
Which one of the following states was most
urbanised as per Census 2011 ?
Goa - (b) Mabharashtra
. (c) Tamil Nadu (d) Gujarat

132.

133. The Brahma temple of Pushkar is in which of the
following states ?

(a) Uttar Pradesh
(b) Himachal Pradesh
(c¢) Gujarat

128. Fmferfiaa § & fora T ¥ 2001 — 2011 i s@fdr
B el SHEET Sl AftreRan SIehiT i gst i ?
(a) ATTIRAVS
() @ g.;%’?(d) TR

129. ﬁﬂ%@aﬁﬁﬂqﬂﬂﬂﬁwmﬁmm

HE?
(d)

(a) %%Nﬁﬁmam
(c) STITE=RT 9T

130. 2011 T SFTVMT ok SRR, Frerferiier e st St
SIS STFTEEAT oh SITCrRIe o HATER 9T ST 568 &
Sty Hifvm ;

I AW

i W o

M. T =

v. HeeE "”

TR fRmeedy uﬂ%}gﬁt T T ﬁﬁm

(@) HOLIV,ILI (b) LILILIV

131, Prefifed § & SR T Reaa § e

I S ek ar R S o 29
(a) =T
(c) Telt (d)

132. 2011 3t AT % IFAr Fefafea & @ wF-ar

mm@mﬁmmﬂ;ﬁm?
(c) d[® i’“*ﬁ (d) TSI
133, YR T SR HiT o T ¥ form vow o Rum
.%? : 3
(a) SR .
(b) TemTere SR
(c) TS Edg
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134. The phenomenon of “urban heat islands™ refers
to:

(2) Increased tree cover

(b) Decreased temperature in urban areas

o0
135. In which csty is thé"”?‘Nanonal Institute of
Agricultural Economlc;ih and Policy Research’

located ? Prom
(c) Hyderabad (d) Lucknow

136. Which website has been prepared to monitor the
financial activities of the State of Uttar Pradesh ?

(c) NIC (d) Arthashastra
137 Which of the following states of India has higher
number of females than ales ?
a) Tamil Nadu ) West Bengal
(c) Kerala §) Karnataka
g
138. Biofertilizers -

(b) Organic manures

(c) Green manures E;i%

(d) None of the above (el

139. Who is the author of the book “The Population
" Bomb” ?

Paul R. Ehrlich

ompson

(b) Donald Bogue
(d) Malthus

140. When was the first Mineral Policy announced in
the State of Uttar Pradesh ?

) On December 29, g*"
On December 29, 199
On December 29, 1997
On December 29, 1999

(©)
(d)

134, “red s g i uftere fored i & 2
(a) & SATERVT shi FAferehal
(b) mﬂﬂ%ﬁﬁmﬂﬁw

135. T Y aredymre ot Aify srE e R
et R ? '

Ol @
(c) ¥R ORI

136. mgﬁmmaﬁrﬁ?ﬂuﬁmﬁsﬁﬁmﬁﬁw%m
F-H JeETze WA TE R ?

(G 14
(c) TI3IMEH (NIC)

(d)

137. w%ﬁm%%ﬁﬁ%ﬁmmﬁﬂ%waﬁﬁm
T & A R ?

(b) ufgmm s
(d) HAlH

(c) shae .
(d) ITde H A g T

139. “T YIqASH 9 " AT TEIh % oi@eh hi & ?

\ (a) it AL, Geiersr | (b) SATes ET

(c) reaEd (d) T
140. ST T TST & qgelt @i Aifa e St s 18

oft 2
(a) 29 femm, 1996 @t

(d) 29ﬁwm 1999@
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141. T AR ATE TR § :
(a) TRIATT (OREELEE
(d) oIt
142. AT AT B A I A R __
@ st
(c) Fgsifien (@ g
143. ﬁmﬁﬁaﬁﬁmwﬁaﬁmmaﬁmm

(d) € A e B |

144. fFrefcrfa o & Y& SRt 1 A IR :
(@) agu%aawm%|

145. an?rf%iﬁ’g'crﬁ@rﬁq T ST YTos-=eH I SR A IS
9
2) ‘érr%waﬁtsﬂa'—raﬁraﬁtmﬁl

(c) mﬁﬂ mﬁnﬁw
TRIT |
(d) rﬁ%ﬁaﬁraﬁr%maﬁéaﬁmW|

146. TR[E AT HT T HITIY ;

(a) € TAR I8 U TR |
(b) =& T T | -

3! &I T T T £ |

147. ST A I A IWE IR :

a) THTA (b) SfrENfieh
148. Twrferie o 3T wrse w1 SugE freim &

(2) ®eT OREE

149. TEft-1 i =i n%g}ﬁ%aaﬁﬁqaﬂrzﬁ%ﬁqm?
wmwaﬁmﬁﬁq

Tell-1 s:fﬁa?-ff
- (T1%3) :E%Fﬁﬂ)
A R®R i fFe
B. e il sHawr
C. 3gd  iii. €M
D, S§99 v, 3T
%e:

(a) A-iii, B-ii, lev D-i
(b) A-i, B-ii, Cféiiﬁ D-iv

150. ﬁaﬁwﬁq&@rg@w-gm%: '

(c) ¥ TR (d) o —frefar

151, Feft-1 30 geft-11 & gafera i st Ry e

<HT RN T HET ST T
G-I éw-ff
@) ?}- )

A. g \;*qurr

(b) A-i, B-ii, C-iv, D-iii
(¢) A-iii, B-iv, C-i, D-ii
(d) A-iv, B-iii, C-ii, D-i
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g it o

(a) mamﬁﬁ@%

155. ﬁwﬁ—rﬁaﬂﬁ@rﬁﬁmzﬁwﬁmwhma&w
22
(2) eI, 3o, Yedien, TSt
(b) &, B, T, ¥
(c) axF&T a8, ?T,Fﬁﬂ?

156, FrefaRea & & eﬁf?a T GEETE T2 R

(a) gamH IIRICED
(c) FY o

157. w&rﬁmmr T AR AT R
@) Rewor

i’?
() ferersr
(d) SwYFaH AR T

158, fmferfaa # & H-a1 weg g i yaigarh T8t

g7
(a) UTET b) T

© 3

159. Teiferfaa & & v o vaiaeTs 787 R ;
(@) A9
(b) T
(c) afet

160. ﬁwﬁaﬁgﬁ@r S| aﬁrqzr?wa‘rw%
(a) feremar

 (c) TR
(@ iR

161. seifRan 3 & Rig’ w1 wertaarh 7272 -
(a) rmsﬁt
(c) T=HE
(d) Il

162. srenfafaa & A forg fomrea & ovft wiog wafuar=h
TE R ?
(a) R I 7Y, T
(b) Tard, fo, v, ofew

(c) 9T, GHIT, T%d, THIOT E‘g
(d) > "qﬂ?ﬁaﬁlﬁsm -

163. F=fafaa & & wmeer v yaigar=h 78§ -
a): HHY ;
(c) dhad
(d) #eT

164. Freafafaa & @ =er s yaibErt 787 2 -
a) &S
) ®&|m
(d o
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165. “ar et el ST |’ are 3 fasior e &

(c) T
(d) =R

166. Tt wwsat & & - v dEa & 2
(b) 3R
(c) rEm _—
@ She

167. reifelad § & ‘Toaw’ wse w1 =g HIRT
L (b) e |

(c) TaAT=®

(@) TiEe

168. reiferiad o & qoam-awa 1 we I TE @
(a) feshr — @
(b) @il — TR

169. TCHH-TIR 2hi GR U hiH-A1 o TEl 781 @ ?
(b) TR — TATS
() &-wi
(@) Ig-Fe

170, ST SRs 37o % T & | a3 afeamr

Yo RN ST H-aT AT B 2

(c) uEATaTE fomieor
(d) wreTER fersior

171, e 3 g weh vree o gfd & - o o

(©) W%waﬁ’rmsﬁﬁ SfreeRT
(d) 3T WIS F e — FrarEr

172. mmﬁ%mwm o Freferitae pwt & &

173. ‘R forelt s it i 7 @ ARy % R
WW%:
a :'5'13
(b) e
(c) Teheqy
(d) e

174 =t 1 3o & g 379 bl g i :
@ S

(c) wousfafda - (d) g B

175, A o & 8 5 e R B v

EAISLE

(b) W, Tufd, Heed, I

(c) e, Sawi, qamsat, siferft
(d) &R, anfewehy, sreanfenss, wEfafeg

176. mﬂﬁrﬁgﬁﬁﬁf@ﬁaﬁm%wmﬁﬁaﬁ

i3

- AYER?
(a) wmaasrf%rm
(b) i, farfer, e
(c) =viiceR, ST, IuRja
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177. forrer-fesimor i g & wi-wr Rerer i 2 9
(a) U —ITHR
(b) ScwTE — Il
(c) BT —3n&
= |
178, Freferfea & & fesivor wree w1 == Hifvre
(a) 3mfy :
(b) 3

:ci IH

EEE
mk
Elrsex

179. sﬁstﬂﬂﬁaﬁgﬁmiﬂm%l‘mﬁ il wsg
R :

(c) HEAETE fasiyor
(d) ulwETorETE e
180. FEfi-1 1 i1 & gorfora shiforg s e e e

HT SR T T I
-1 gi-17
() ()

ATy i R

B. e i frRe

c. fem i, RErd

D. fe v, A

‘Gg_c'.':

(a) = A-i, B-ii, C-iii, D-iv
(b) A-iii, B-i, C-iv, D-ii

.ﬁt-'f%ﬁgaﬁ%ﬁwm%:

(d) et

182. “SfTTR heh T1eh 3T ST oty Tt 1Tk STeRTisT

% feTT STgE wee R

(b) Tosrersar
(c) efraTiehr
(d) Schfsar
183. “SeriET 3 7T Uoh Y1oa” % STeiifeTRaa fshedt o &
HI-9T foreheT AR R 2
(2) TET T 1 e B — aeiem
(b) L L e | )

(d) e sfifer — TemE

184. “Fra =afh o1 o forelt oft 31, whrer ot wRRefiy 3
THATTH TEdT 8’ amm%%qqm:maﬁm%
(a) T femeh
(b) wwmeRit
(d) wmeafer

185. ‘3T 3N Yef famTT 3 HeRrarel shior ot oo et & 2
.

(b) I
(c) EET)
(d) AT

186. Wwﬁﬂ%ﬁaﬁﬁmm%%ﬁ

(b) ﬂmwaﬂma’rmﬁlﬂ%wél
(c) =T R daraE H e e |
(d) T HIE AN S A T waTd |

| 187 e o vER R s o v

yafera eI 8 2
(a) ToPU BT IUHR &1 AR Tl — 3

(d) Gﬁ'sﬁi%ﬁ%q}?r s
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188. STefiferfiaa o & “qeaw” 31e2 w1 Rifga IR -
(b) =T
(c) <&
(d ==

189. fr=feriaa & & -ur ferey ‘aeaw g 78R 2

(b)

¢ ™

d)
190, ““ITT IeE HIAEHTIR

(2)

(c) "I "

(@ e o
191, TCHH-ES T ohI-aT ferehed Tei & 2

)
(c) ek — et
(d) W —HHeAt

192. Teferfea & & a1 gla 1 aeaT TR 2
- (@), _

(©) i
(d) sfisr

193. “STEl ferell ST ohl ST 1 STRITRT 36 o7 Sgerey 97eg

a) Fgg (b) fe=re
WEE) o
194, = R w7 vreei § & qeew 7@ R

() 9@

(b) IO

195, MY I M e & -

196. ‘ST U ATEr w1eg % e o weh e 8
() T, o
(b) TRV, ST
(d) 3T, enforia

197. Rt # & pa freim-gm @ -
(a) Sehfcueh — e

(b) TIRE — T
(c) 3 CHAI T
@

198. ﬁnrf%rf@quaﬁ foeTm-get & ¥ s1E e
B |

199. Feierien foreie wreg-gm o v wet 78 2 -
(@) ¥
() AE=SFE
(d) =T
200. foredim <6t g8 & freferiea # O o weg-gm &
(a) amT— FITT
(b) 3TTheT — SAThST
C — R
@ g faea
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